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@A (1 - 5) : AT & TS AP FT
EAYaS HETeT Y AT $Hh YN T
WRaAT & 3ca &

Tger 8 A & 39el Sl H ol YR
AT &, 4 felt T & @1g 7% f§g G
Wq@m%ﬁﬁwsmm
¢ 3R g H W ggoet 98 I arfeet
#qsar & 3R 12 fael goe g B w
TgT S ¥l e o g A W omsT §
ag 3ot 99 F 3 Rl Taar ¥ 3R g
C W IgaaT alfel Asal & 3R 4 fpal
oA 8,50 a6 i a8 91 a3 ¢ 3R
4 et Tore fig D WX ugdar g1 Iika
3ec & 3N AW F& g K o @3 g,
g 39 9RRTH H IJIaT YRH HLar .8
fohaY Torl & a1¢ 98 fog L W 9gae
a3 Fr & 3R 6 el T ¢ IR g
E W 9gadr 878 & g aned #Hsdm @
3R 4 AT geT &g F X 9gaar ¢
foig F @& aikg 9 #Hsar & 3N 16 el
oY foig C W 9gad &l

Ife aila &g F & arfgst =18l Hsar § 3R
a8 gl § AT argar § o 3§ e
&l a3 et ggaf?

A. 12 felr B. 14 Rrat

C. 11 feir D. 8 farel

E. 10 farelr

afe @l eafea fig F X ugwen =med &
AR 308 U & AT W AT IRIAS
feucht & T aRe fFar § o 37 Fa
Fo fohcell gl a7 FTr gzaf?

A. 55faT B. 567t
C. 48fws D. 42f%FY
E. 31f%e

ger T 3ifaH A & deot o sika A
R fEud fArafafad & & fra fgar
aF gef?
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A @ B. 3cR-afRas

C. gferor-qa D. 3cR-qd

E. afRa#

afe; Tger foig B A 370 E1fgel Terr GReT
FXar § 3R 15 frelt Toee S H3ar §
AR 6 freAT Tdr §, a8 Frafarad # ¥
v fig w aga smdem?

A g L B. g F
C. Mg E D. f¥g K
E. fig C

f§ig F & dest # &g D eafaf@a & &
e feem & &2

A qd B. IccR-afeas
C. afaor-qd D. 3cR-qd
E. giRes

A (6 - 8) : AT & IS AP FT
EIAYdh IHETTA L TAT $h MUR T
uREl & 3eeR &

feg P & 3car & 40 #Hiex & gt W
o0 S 81 fdwg S & uRwH & 15 #ex

R foeg Q 81 ieg S & aRe#A &
25 AR gl W g U 81 foeg Q &
gferor & 20 #HieX gl W foeg T &1 foeg
T& @ & 15 iy | foeg R &1 g
P & dftasd & 15 #ier gt W foeg V
gl

et & @ &l @ foeg el @r # g2

A.S T, P B.T,V, R

C.S, QV D.T,V,Q

E.U, QR

foig P, fiig R & dast & frw faem #F 37
A. gigror B. 3ck

C. @ D. 9iRE#H

E. @uiRa 78 forar s @erar

Ife U =gfed foig U & 99 # 10 &Y
Torar AR R & 3R A3 8, o %
fret & & fhe g T gger ggam?
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AV B. S
C.T D. P
E. R

ader (9 - 10) : PR STy &1
FeFTA HIFST AR QU aIw geaft & 3R
A
fog B, g A & 12#0ex gx afaror # &l
fig C, g B & 24ficr @ 7@ # 1 g
D, g C & 8#ieY gy cfaor # §1 foig
D, g E, & 12#fiex g7 4§ & & 3R fg
F, [§g E & 8#lex ¥ 3} # ¢l

9. D, B & g feum # g7
A. glarorafes  B. gfarorqd
C. 3T D. qd
E. 518 ¥ g aal

10. I U 3meer f§ig C & 3R A Hg
@sT &, o aF g F, & foraam g 3k
forg feom # 87
A. 12 #iex afees
B. 24 X @
C. 12 fix 7@
D. 24 #ex afdasw

E. 5 & #1571l

@der (11 - 13) : Ar=fAf@T SRR FHr
SAAYdS HEYTA N U 1T geadt &
ESRCUE LY
fSig U, g B @ 8iex gy qd # ¢ foig
R, [¥g B & 2#ex g afaor & g1 &g
R, fdg S @ 78X g7 3R A §1 g K,
g S 3k M & &g & B1 &g K, fRig M
¥ 3 T 7l fNg v, foig M & 4
T amor 7 gl g M, g S & qd &
el

1. g M, [&ig R & dest & forg fem # &2

A ST - gFC B. @IOT - q@
C. afeor D. q@
E. 33
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12. f§ig U, fig S & dest & fong fear & 87
A. 3 - ufg\w  B. gf@ior

C. uiRE# D. 3/ - g4
E. q@

13.S, K, M &I ®BIs Ts @l @r #
fArfaf@d & @ @i @ de fog 3md 872
A. BRS B. UMK
C. SMY D. BUR
E. KMY

f@&er (14 - 15) : AeAfoI@d TSR Y
&I ¥ 9¢ adur QU av e weEl &
3k &
ffeg P, Q & 9 7 q@ &1 3R &I feg
R, P & 5 # fator 7 3 81 A=g S,
R & 3 # yRae &1 3R 81 Mg T, S
& 5 3ccX HT AN Bl =g V, S & 7
#r gfaror 3R

14. Ife vk cafdd foeg R & aiRes &1 3R
et @ A 8 A Tadr § o 9% Ugd
e fdeg & aR Ham?
AV B. Q
C.T D. S
E. 319 81 fopar S gepar

15. a7 & @ Al @ foeg el @ & €7

A. P, RV B.S, T, Q
C.P, T,V D.V,T,R
E.S,V, T

farder (16 - 20) : AFATATRT ATTRRT FHT
HAYds 9 3N M R ueadl & 3ok
o

T 3787 XY 38 9K ¢ fh X 3cax fear
# 3R Y cfaur Rem 7 §1 e 3= 36T
PQ 39 R & & P gias feer 3k Q
qd fdem 7 &1 3r87 XY 3R 3187 PQ wH
GE A WER fdg A W 38 YR Ticreoa
Fa & 5 XA 430, AY 671, PA 6 #r
IR AQ 81 & HfAT g Y @ welew
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16.

17.

18.

19.

20.

IRH AT ¢ AR IfRgs fGem # 6 #r
TR a1 3 AT & 3R 8 #ex Ferar
& R a1 3R s 10 A e § 3R
fig M o ¥ Sirer g1 foig S foig A 3R
fig Q & &% #7eg & g1 g O g X
& @ H 47 W E

f&ig M & @cey & g O forg foem # 82

A. 3cX B. 3cR-ufea#
C. cfaurgfRge D. &fgor
E. 3caR-qd

foig O 3R foig S & oo & gl A1 H?

A. 6 #r B. 8

C. 4 # D. 10 #

E.7 &

&ig Q & @eet # g X frg faem & 82
A. 3cR B. 3ccaR-ufRaH

C. gf&ur-ufRger  D. gfayor

E. 3caR-qd

Ife §ig G g M & aiRes & 10/
g g P 3k Bg G & &7 gl 7=
87

A 12 # B. 10 #r

C. 14 #r D. 16 &

E. 18 #r

fSig O & @eet # foig P forg faem o 82
A. 3cR B. 3ca-giea#H

C. gfgurufRgsr  D. gfayor

E. 3cR-q@

fader (21 - 25) : Y & IS SRR T
YA AT L TUT $Hh IR T
SO * 3 I
ar gfeq, «afea 13R =afeg 2 wA:
f§g S 3R Q W T3 § 3R 370 7@
TH-gEY R E AR S W Q & d=
# gl 20 X B @fad 1¥g S W §
3R 3FH AW 3R H A | AFT 1
IR afFd 23l @ AR A € AR

fRY e foeg N 3R foeg P a% 9gas
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22.

23.

24.

25.
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& fov 15 Mex & g a7 = ¢ foeg
N & =afFd 1gsar & 3R foeg M o=
qgae & T 3ol gfeor-gqd fewm # 10
Hiex Toar 51 foeg P & safd 2418 3R
ASA & du Neg Z a5 dgaa & fov
258X &I gl a7 T g1 fowg Z, foeg
L & aiRes & 30 HAie 1 gl W &1 foeg
Z, S & IRA foig & faror-aies # g
Ife =g C, feg N & 10#fieT 30 # ¢,
ar ieg S, =g C & west & frg foar
# &7

A. 3T-gE B. 3-ufRaH
C. gferor-qa D. afetor-gfas
E. 398 & &I 18T

foeg M & dest & foeg Q fohe fer &
&7

A. 3T-gE B. 3-ufRaH
C. feror-qa D. afetor-gfas
E. 378 & &I 18T

Ifeg g G, Mg Z 3R Mg L & #Avw &
g A RgQaIRGHF T A g Fwd
3R g G ¥ g Q frg foem # 82

A. 20 #l. 33X B. 20 #. gfayor
C. 25 #. 3@x D. 25 #. gfgor
E. 38 & &I oTgl

foig P 3R L & o wgeias @smida g
T &2

A. 30 . B. 25 .

C. 39 7. D. 45 .

E. 538 @ FI3 o7t

fig L & foig M forwr foem # 2

A. FT-gE B. 3tR-afRa#H

C. feor-qd D. aferur-aiReH

E. 538 & FI3 et

farder (26 - 30) : A & TS AFFRY FT

AT HETe Y dAT SHF YN N
92t & Ical &l
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26.

27.

28.

29.

30.

31.

K, G & aidr §, G, N & ary farfga g
B, 38 G &I sicX-3A-oll g, for@ehr ar afear
¢ dfheT IS der @l g C, E & ==
Te/aRT g IR K AT HS 8| F 3R L, N
& gIAG g| L & ar afear 3Rt §er Bl
FRruhdear3iRuw aar gl H3R I, O
T afear g Z Y 39 IRAR &1 F6ET gl
& T SHER & AR O, C ¥ &
e g2
A. A
C. 3
D. uiRa &7 Far s g@ear g

E. 58 & &I e

& I SEHR F HFER H, N & @
e g7

B. 3mer

A. 9rdr B. &¢r

C.9¥ D. grer

E. 578 @ IS el

IREAR & el Farer cufer &2

A TH B. ar

C. dia D. IR

E. g8 & H1$ e
fAFfafad aagl & @ Fi- ar a7g
SirsT 87

A FZ B. O,L

C. ILE D. &aa (1) 3R (2)
E. g8 & g e

Z, L ¥ &y gefdq g2

A. d&sT B. AT

C. Rrxsa-al D. 18

E. g8 & g e

farder (31 - 33) : AT FAETHRT A
e ¥ g¢ 3R Y a1 gt & 3R &-
L, D fr sga &1 D, U &r a<r &1 U &7
fare T @& g3m &1 T, Z & Tehellar I
€l Z, R &1 97 &l R, Q & 9fd &l

gfg Z, X &1 ™ar g ar X, s & v A
el g, U ¥ fra R grafeyd g2
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33.

34.

35.
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A. #TS B. aelg
C. &falel D. grell
E. §gT
U, L & 8 9oR a&afeuad g7
A. grATg B. gaT
C. 5§ D. &
E. 3981 @ ®Ig oAEl
Q, T & fra yR aFsfeera g2
A. |Telr B. &@rH
C. aré&r D. Arar
E. ari

fa&er (34 - 35) : Y & IS SAHARRY F
EIAYdh IHETTA L TAT h MUR T
geait F 3k gl
P+ Q & 3T § P, Q o g gl
P+ Q & FT P, Q F far gl
P+ Q & 3§ P Q H YT B
P-Q & AT E P, Q FT 5T gl
H+1+L-J#&J HIT FT IR
grafeed g2
A. TS

C. &fa=t
D. AT gl fhar ST Ihdar

E. g8 & &I et

T A dRTameaTg &FS, TH
Oar &2

ASxM=+H-T
B.SxM+H-T
CMxS=+H-T
DDMxS-H+T

E. $13 & #Ig el

B. sgeT

farder (36 - 38) : AT & TS FATAPHY &
EIAYdSh AT L TUT FHh IR W
et & EISSN al
A, B & Tar §1 B, C &1 U= &1 97 gl
C,D& gt g1 C, E &N #AMT 8l E, F
# T&T &l
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36.

37.

38.

39.

40.

41.

IEDH faaE PA M A D, EH
e R FFafead §7?

g B. gATG

Orar D. ATar

AT el AT ST Fehll

A ¥ FE IPR Fealeud §?

LEll B. faar

HTAT

AT gl fohdT ST TeheT

El_,?r

B @ fpg yeR Fafeed g2

ar B. AT

i D. g3

. AT 18T fhar ST "ehar

] HAGA HI Tgd FIAT & AS Hr
TFATT A §| Feell Hedd ¥ TR ghR
e g2

A. gir B. #drsir

C. IR FgA D. syclrsii/ga

E. 3RIFd & & S 87

DB ASE|MBFRASE | K M
FRTE | T KNI E|BRTH
FT Iy g ?

A g B. g&
C.gf I g D. 3rer e

E. 57 & FI5 aiel

moO»OMmMOOPP»TMmO »

e (41 - 43) : AT & T TR F
YA AT B TUT $Hh YR T
gl F 3K 2l

U gRaR & 3116 ¥e&T A, B, C, D, E,
F G 3R H &g & 3msiived & wisad
#T @ o7 W@ §1 E, B &1 g7 § 3R B,
Hd&r #Arar 81 D, H e afqd &1 F, A &
grar g 3R B & 9fd g1 9Rar # s
7%% Afgerd §1 C, D & Theltar I ¥
G, B &I 9t &1 H i t&h Tearet 1

A E ¥ f&8 yeR grafeyd g2
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43.

44.

45.
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A. drar B. didr
C.ga D. T
E. 518 & #1$ ofet
C, G ¥ 5 YR Trafud &2
A. #TS B. sg
C. IR D. T §go1

E. A1 s1gr fohar S "l
ARaR # AT FeFT F1 THE &

A.F,B,G H B.B A H G

C.H C,B,A D.DEGA

E. 598 & #1$ oIgt

fo&er (44 - 45) : Y & TS AHARRY F
EIAYdh IHETTA L TAT h MUR T
geait F 3k gl

©F HeEdl drel GRAR #H, Telerd, Sief 7
far &1 Sfen, <\ & A g oerH, R
& 37ehel gl 9T, Toledd &1 3Ie-gI-al gl
IRER & Uh A g

Y, Sl ¥ e yR w@eaferT g7

A. 9rdr B. §g«T

C. grelt D. gt

E. Arar

amT, 3 O fra geR G@efda g2
A. g B. Teelr

C. grelr D. gt

E. Arar

farder (46 - 50) : AFATATRT ATTRRT T
HIAYds 96 AR T T g & 3ce’
gl

gt 9RaR # ©g «@fFad P, Q, R, S,
T, U & & § § a8 ¥ 9,
Hhfore, amsalaa, =amamefer, sfere 3k
ST gl sfere, U &1 aer g S
deX 1 HAkfrsh S 1 faarE P & g3m B
R, S =arameher § 3@ &ag dsaRas
g Q, T 3R U & &mar & aRar
H &del &I darigsh SIS §
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46. T &7 cTGETT FAT g2
A. 3fere B. Farameer
C. #A%fa® D. X
E. 30 # @ #1S /61

47. P, T ¥ &8 woR @efad g2
A. S B. @rar
C. [ar D. &ar

E. 3udad & & g g1

48. 9RER # el J&Y T §7?
A TH B. die
C. IR D. &
E. 3T 3793aed &

49. P & TG 4T &7

. IBPS PO & Clerk Combo
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50.

o

gradeup

A. 3fére B. emgsReT

C. ararefrer D. #A%fas

E. 3udad & 4 1S =ag!
Tfaf@a & & *l9 IRar & darfgs
S & e R

A. PQ B. PR

C. PS

D. feTRa #gT & Fehol

E. 3udad & 4 1S =Ag!

ICTE B
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ANSWERS
1. Ans. C. 1. Ans. C. 5. Ans. C.
8+3=11km v s
Ak - yny) K . yuy)
2. Ans. B.
G 6. Ans. D.
o 10m Q 15m
p (Rahul) skm U >
20m
B 40m
L 8lam ’bkm T 15m R
- — lgAhYl
Rahul= 3+16=19km L e °
Ajay= 3+16=19km According to the diagram the points
Gaurav= 8+6+4=18km which are in straight lineis T, V, Q .
Total= 194+19+18=56km 7. Ans. A.
3. Ans. D. 10m Q 15m
i ok Gaurav S
T U
20m
g (Rahul) i skm "
‘ 40m
12km T 15m R
Y 4kn é“‘n V lSm P
4. Ans. A. P is in south direction with respect to R.
L sk e 8. Ans. C.
= 10m Q 15m
‘ 5 S
g (Rahul) ; tkm "
‘ 20m|
40m
T 15m R
o ) v 15m P
He will reach point T first.

. IBPS PO & Clerk Combo
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9. Ans. B.
A
12m
———2am —>
F C
]
8m| 8m
.
E D
12m
10. Ans. C.

If a man is standing facing North at
point C than point F is 12 m West

12m
¢ 24m >
r C
1
8m! 8m
I
'
E D
12m
11. Ans. B.
N
W E
5
Sm

b

ol

gradeup

12. Ans. D.

13. Ans. A.
N

IBPS PO & Clerk Combo
rL ok IE4Fif


http://www.gradeup.com/
https://xu75j.app.goo.gl/Ddcv

www.gradeup.co

14. Ans. D.
Q T 9m o
5m
5m
"""""""""""" S R
m Im
m

\Y

If a person walks in a straight line for 8
m towards West from point R, it will
cross first S (see figure)
Therefore, the Correct Answer is Option
D.
15. Ans. E.

Q T 9m

‘)

5m

5m

m 3m

Im

Vv

We can clearly observe that points S, V
and T are in a straight line.

Therefore, the Correct Answer is Option
E.

16. Ans. A.

Point O is north of point M.

Hence, option A

X 4m 0

4m

$

gradeup
17. Ans. C.
The distance between point O and point
Sis4m.
Hence, option C.
X 4m 0
4m
P 6m 8m Q
A 4m S  4m
6m
om ¥ (amit)
8m
10m
G M
18. Ans. B.

Point X is north-west of point Q.
Hence, option B.

X 4m 0

4m
P 6m 8m Q
A 4m S 4m
6m
om ¥ (amit)
8m
10m
G M
19. Ans. C.

P 6m 8m Q
A 4m S 4m

sm ¥ (amit)

8m

10m

EekiikiEl

10

IBPS PO & Clerk Combo

The distance between point G and point
Pis 14m.
Hence, option C

X 4m V]
4m
P 6m 8m Q
A 4m S 4m
6m
—f_’ﬂ—x (amit)

10m

ICTE B
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20. Ans. C.
Point P is in south-west of point O.
Hence, option C.

X 4m 0

4m

B 6m 8m
A 4m S 4m

6m

— O Y(amit)
8m
10m
G M
21. Ans. D.
P 1Sm o
L4
20m
¥ & Omi
25m
'
5 = N
15m
m
Z » 30m-

Clearly point S is in the south-west of
point C
22. Ans. B.

= J0rre

Therefore Point Q is in the north-west of
point M
23. Ans. C.

S
15m

Q

It is clearly visible from the above
diagram that point Q is in the north

. IBPS PO & Clerk Combo

EekiikiEl
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direction from point G and the distance
between them is 25m.
24. Ans. C.

In the above diagram the minimum
possible distance between Point P and L
will be calculated using the Pythagoras
theorem as follows:

(PL)? = (PZ)? + (ZL)?

Here the distance between point P and Z
is 25m and the distance between point Z
and L is 30 meters so

(PL)?2 = (25)? + (30)2

(PL)? = (625) + (900)

(PL)?2 = (1525)

(PL)= 39m approx.

So the minimum possible distance
between point P and L is approximately
39m.

25. Ans. C.

It is clearly visible from the above
diagram that point M is in the south-east
direction from point L

26. Ans. B.

Accordig to the given information, O is
aunt of C.

Gq—hf: B(+)
F[+}/-—<-3(-} (-

C(+) K() H()

HeTE B
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27. Ans. A.
Accordig to the given information, H is
grand daughter of N.

G4—7\) B(+)
F(W(-} (- L(+)
C(+) K(-) H(-) ()

(+)
28. Ans. C.
Accordig to the given information, there
are only three couples in the family - G
&N, F&Zand O & L.

Gq—?\n B(+)
F[+}/._\_..Z(-} G

C(+) K(-) H(-)

29. Ans. D.

Accordig to the given information, there
are only F & Z and O & L couples in the
family -

G‘_yﬂ: B(+)
F(ﬂ/._\_.Z(-} (- L(+)

1G] K() H() It)

()
30. Ans. C.
Accordig to the given information, Z is
Sister-in-law of L.

Gq—yl\] B(+)
F{W(-} (-

Cl+) K(-) H(-)

31. Ans. B.
Family tree:

R+ = Q-

Z+

T+ e ().

L- = D-
T is the only son of Z, so X will be

. IBPS PO & Clerk Combo
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daughter of Z. Hence X is sister-in-law of
U. So the answer is b).

32. Ans. D.

Family tree:

R+ == Q-

2+

T+ = (-

L-—D-

U is Mother of L. So answer is D).
33. Ans. C.
Family tree:

R+ = Q-

Z+
|
TH sy
I
L- === D-

Q is Grandmother of T. So answer is c).
34. Ans. D.

From the given expression H + I <+ L-J,
H is son of I and Brother of L and J is
either brother or sister of L and H. So
answer is (d).

¢

v

Hm%L-f%J

35. Ans. C.

From the given expression M x S + H -
T, M is wife of S and S is father of H, H
is sister of T. Hence from option 3 we
can say S is father of H. So answer is

HETE B
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(c).
Mi_-TSm
Hf%T
36. Ans. E.
D
J + means - male
\ f\ _means - male
E—F

Ais the husband of C. Gender of D is
not clear.

Gender of D is not clear. D is either male
or female, so we cannot decide the
relation between D & E.

37. Ans. A.

A is the father of B. B is the only son of
C. Cis the mother of E. E is the sister of
F.

Here it is given B is the only son of C, so
F is the daughter of A.

D
+ A== C- + means - male
\ f \ _ means - male
E—F
38. Ans. B.

A is the father of B. B is the only son of
C. So, Cis the mother of B.

+ means - male

\ / \ _means - male

39. Ans. D.
From question
Madan Sister

L D E——

«Sangita
o \Brolher
Niece'\ ¢
or
daughter ‘\“ %aughter
.\'a;1dini

Hence option D is correct
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Sangita may or may not have another
brother. If one brother only, that is
Madaan, then daughter. If she has two
brothers, then might be niece.

40. Ans. C.
I(Ig---:b Tf
M -> B -->Dp,

So, B is the son or daughter of T.

41. Ans. D.

The diagram is given below - We can
conclude that - A is the daughter of E.

.B=F
+

+ sign means - Male

- sign means - Female

Males member are - F, DE&C

Females memberare- B, H, A& G

42. Ans. C.

The diagram is given below - We can
conclude that - C is the cousin brother of
G.

| F
+

+ sign means - Male

- sign means - Female
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Males member are- F, DE & C
Females memberare- B, H, A& G
43. Ans. B.

The diagram is given below -Female
members are - B, A, H, G

B=F
+

E/\H—D
+l\- -\ +

C+
A G

+ sign means - Male

- sign means - Female

Males member are-F, DE&C
Females memberare- B, H, A& G
44, Ans. A.

Kerry is granddaughter of Julie.
Solution of Puzzle:-

L ] -
Alex L_ ﬂ Julie ‘

| L ]

Dean L_ ﬂ Wong ‘

45. Ans. B.

Wong is wife of Dean.
Solution of Puzzle:-

e
=

‘ Tom-

| L —

Dean L “ wong ‘
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46. Ans. E.
Family Tree diagram is given below -

P (Dentist) S (Mechanic)
male female

R (Judge)”X~Q (Librarian)
male female

U T

U is Painter. Q is the mother of T and U
means T is the brother or sister of U.

Keep in mind there are only two married
couple in the family.

Since S is married to the P, so R the
Judge, who is married to the librarian, Q.
Again we know that Mechanic S is
married to P, means P is the dentist and
grandfather of T and U.

From all these, we get that No else one
is electrician hence T must be an
electrician.

Clearly T is the electrician hence answer
is none of these means option 5 is the
right answer.

47. Ans. D.

Family Tree diagram is given below -

P (Dentist) S (Mechanic)
male female

R (Judge)”$~Q (Librarian)
male female

U T

U is Painter. Q is the mother of T and U
means T is the brother or sister of U.
Keep in mind there are only two married
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couple in the family.

Since S is married to the P, so R the
Judge, who is married to the librarian,
would be married to Q.

Again we know that Mechanic S is
married to P, means P is the dentist and
grandfather of T and U.

From all these, we get that No else one
is electrician hence T must be an
electrician.

So, P is the grandfather of T also. Hence
right option is 4t

48. Ans. E.

Family Tree diagram is given below -

P (Dentist) S (Mechanic)
male female

R (Judge)”%~Q (Librarian)
male female

U i

U is Painter. Q is the mother of T and U
means T is the brother or sister of U.
Keep in mind there are only two married
couple in the family.

Since S is married to the P, so R the
Judge, who is married to the librarian,
would be married to Q.

Again we know that Mechanic S is
married to P, means P is the dentist and
grandfather of T and U.

From all these, we get that No else one
is electrician hence T must be an
electrician.

Since nothing is mentioned about T and
U, so the exact number of male could
not be determined. Hence right option is
5th

49. Ans. A.

Family Tree diagram is given below -

P (Dentist) S (Mechanic)
male female

R (Judge)”%~Q (Librarian)
male female
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U is Painter. Q is the mother of T and U
means T is the brother or sister of U.
Keep in mind there are only two married
couple in the family.

Since S is married to the P, so R the
Judge, who is married to the librarian,
would be married to Q.

Again we know that Mechanic S is
married to P, means P is the dentist and
grandfather of T and U.

From all these, we get that No else one
is electrician hence T must be an
electrician.

Clearly, P, who is grandfather of U, is
the dentist. Hence 1%t is right answer.
50. Ans. C.

Family Tree diagram is given below -

P (Dentist) S (Mechanic)
male female

R (Judge)”%~Q (Librarian)
male female

U T

U is Painter. Q is the mother of T and U
means T is the brother or sister of U.
Keep in mind there are only two married
couple in the family.

Since S is married to the P, so R the
Judge, who is married to the librarian,
would be married to Q.

Again we know that Mechanic S is
married to P, means P is the dentist and
grandfather of T and U.

From all these, we get that No else one
is electrician hence T must be an
electrician.

Clearly S, the mechanic, is married to P.
So PS is also one of the couple in the
family. Hence 3™ is right answer
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